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Faded phase
o

clear all;

C fmE=0.1;

t=0:1:4900; ) .

M=8; ' . "

N=§2*M+l)*2; E

alpha=0; - ’

theta O=pi/6; ) 8

wm=2*pirimt; '

beta=pi* (1:M)/M;

i=l;

for tO=t, , g
coswn{i,:}=cos {vm*cC*cos (2*pi* (1:¥)/¥));
Gi(i)=sum{2*cocs{beta).*coswnti,:));
Gq(i]=aum{2*sin(beta .*coawn (i, :}) ;-

v .

i=i+3;
end; )
Gi=Gi+sgzt(2) *cos(alpha) *cos (wm*c) ;-
éq=sq+sqrt(2}*sin(alpha)‘cos(wm*t};
Gi=2%Gi/sgrt(2* (M+1));
Gg=2*Gg/sqrt(2* (M+1));
Gi=Gi+cos{watt*cos(theta_0)};
Gq=Gg+sin(wm*trcos(theta 0)};
z=sgzt (G1.*3i+Gq. *Cg);
phase=atan2 (Gg,Gi} +pi;
zdh=10%1ogl0(z) ; T , _ _ )
subplot{2,1.1), plotiudd}. vitle{'Rayieigh faded envealope'),
xlabel ('time ©/T!), vlzbel ['Fad e {d83)'),
axis ([0, 400:'-10 71) ;" g
subplot (2,1,2), plot(phase), title(’Rzyleigh faded BEnvelope'). -

xlabel{'time t/T'}, yladel ('Faded phase!'),
axis({0 460 0 2=pil}; ) -

Rayleigh faded envelcpe
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